

$$3y + 3/2 = -x + 1$$

$$3y + 3/2 + x - 1 = 0$$

$$3y + x + 3/2 - 1 = 0$$

$$3y + x + 1/2 = 0$$

$$6y + 2x + 1 = 0$$

(b) at the tangent

$$\frac{y - (-1/2)}{x - (-1)} = \frac{3}{1}$$

$$\frac{y + 1/2}{x + 1} = 3$$

$$y + 1/2 = 3x + 3$$

$$y - 3x + 1/2 - 3 = 0$$

$$y - 3x - 5/2 = 0$$

$$2y - 6x - 5 = 0$$

(4) $y = 1 + x - x^2$ $(-2, -5)$

$$\frac{dy}{dx} = 1 - 2x$$

$$\frac{dy}{dx} = 1 - 2(-2) = 1 + 4 = 5$$

$$\frac{y + 5}{x + 2} = 5$$

(a) at the tangent $m_1 = m_2$

$$\frac{y + 5}{x + 2} = 5$$

$$y + 5 = 5x + 10 = 0$$

$$y - 3x + 5 - 10 = 0$$

$$y - 3x - 5 = 0$$

(b) at the normal $m_2 = -\frac{1}{m_1}$

$$\frac{y + 5}{x + 2} = -\frac{1}{5}$$

$$5y + 25 = -x - 2$$

$$5y + x + 2 + 25 = 0$$

$$5y + x + 27 = 0$$

(5) $y = 1/x$ at point $(3, 1/3)$

$$\frac{y - 1/3}{x - 3} =$$

$$\frac{dy}{dx} = -\frac{1}{x^2}$$

$$\frac{dy}{dx} = \frac{1}{-(3)^2} = \frac{1}{-9}$$

(a) at the tangent $m_1 = m_2$

$$\frac{y - 1/3}{x - 3} = -\frac{1}{9}$$

$$9y - 3 = -x + 3$$

$$9y + x - 3 - 3 = 0$$

$$9y + x - 6 = 0$$

(b) at the normal $m_2 = -\frac{1}{m_1}$

$$\frac{y - 1/3}{x - 3} = \frac{1}{9}$$

$$9x - 27 = y - 1/3$$

$$9x - y + 1/3 - 27 = 0$$

$$-y + 9x - 27 + 1/3 = 0$$

$$y - 9x + 80/3 = 0$$

$$3y - 27x + 80 = 0$$

NAME: SANNI BASARA OYANDANA LA

MATRICO: 191MHS011396

SEPT: Medicine and Surgery

① $y = 2x^2$ at the (x_1, y_1) $(1, 2)$

$$\frac{dy}{dx} = 4x$$
$$\frac{dy}{dx} = 4(1) = 4 = m_1$$

~~$y = 2(x)^2$~~

② equation of the tangent

$$m_1 = m_2$$
$$\frac{y - y_1}{x - x_1} = m_2$$

$$\frac{y - 2}{x - 1} = 4$$
$$4x - 4 = y - 2$$
$$y - 2 - 4x + 4 = 0$$
$$y - 4x + 2 = 0$$

③ equation of the normal

$$m_2 = \frac{1}{-m_1}$$

$$m_2 = \frac{-1}{4}$$

$$\frac{y - 2}{x - 1} = \frac{-1}{4}$$

$$4y - 8 = -x + 1$$
$$4y + x - 8 - 1 = 0$$
$$4y + x - 9 = 0$$

② $y = 3x^2 - 2x$ $(2, 8)$

$$\frac{dy}{dx} = 6x - 2$$

$$\frac{dy}{dx} = 6(2) - 2$$
$$\frac{dy}{dx} = 10 = m_1$$

② equation of the tangent $m_1 = m_2$

$$\frac{y - 8}{x - 2} = \frac{10}{1}$$

$$y - 8 = 10x - 20$$
$$y - 10x - 8 + 20 = 0$$
$$y - 10x - 8 + 20 = 0$$
$$y - 10x + 12 = 0$$

③ equation of the normal

$$m_2 = \frac{-1}{m_1}$$

$$\frac{y - 8}{x - 2} = \frac{-1}{10}$$

$$10y - 80 = -x + 2$$
$$10y + x - 80 - 2 = 0$$
$$10y + x - 82 = 0$$

③ $y = \frac{x^3}{2}$ $(-1, -\frac{1}{2})$

$$\frac{dy}{dx} = 3x^2$$

$$\frac{dy}{dx} = 3(-1)^2$$
$$\frac{dy}{dx} = 3 = m_1$$

② at the normal $m_2 = \frac{-1}{m_1}$

$$\frac{y - (-\frac{1}{2})}{x - (-1)} = \frac{-1}{3}$$